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SIMPLE EQUATIONS

1. Complete the last column of the table

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NZ0sk9l65N2c

2. Check whether the value given in the
brackets is a solution to the given equation or
not: (a) n+5=19(n = 1) (b)
™ +5=19(n = — 2) (c)
Tm+5=19(n=2) (d) 4p—3=13(p=1)
(e) 4p — 3 = 13(p = 4) (f)

4p — 3 = 13(p = 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_PMLWcONUXIDh

3. Solve the following equations by trial and
error method : (i) 5p+2=17 (i)

3m —14 =4

o Watch Video Solution

4. Write the following equations in statement

forms:
)p+4=15
(i)m—7=3

(i) 2m =7


https://dl.doubtnut.com/l/_shIbVNtIW4T9
https://dl.doubtnut.com/l/_09Dz8kfTYtgf

(m%:3
m

(V) =

(vi) 3p + 4 = 25

(vil)dp — 2 = 18

D B
(viii) 5 +2=28

° Watch Video Solution

5. Write equations for the following
statements:
(i) The sum of numbers x and 4 is 9.

(i) The difference between y and 2 is 8.


https://dl.doubtnut.com/l/_09Dz8kfTYtgf
https://dl.doubtnut.com/l/_NxDkkBtZwZjV

(iii) Ten times a is 70.

(iv) The number b divided by 5 gives 6.

(v) Three fourth of t is 15.

(vi) Seven times m plus 7 gets you 77.

(vii) One fourth of a number minus 4 gives 4.
(viii) If you take away 6 from 6 times y, you get
60.

(ix) If you add 3 to one third of z, you get 30

° Watch Video Solution



https://dl.doubtnut.com/l/_NxDkkBtZwZjV

6. Set up an equation in the following cases:

(1) Irfan says that he has 7 marbles more than
five times the marbles Parmit has. Irfan has 37
marbles. (Take m to be the number of Parmit’s
marbles.)

(ii) Laxmi’s father is 49 years old. He is 4 years
older than three times Laxmis age. (Take
Laxmi’s age to be y years.)

(i) The teacher tells the class that the highest
marks obtained by a student in her class is
twice the lowest marks plus 7. The highest

score is 87. (Take the lowest score to be [.)


https://dl.doubtnut.com/l/_er2t5oIlvK20

(iv) In an isosceles triangle, the vertex angle is
twice either base angle. (Let the base angle be
b in degrees. Remember that the sum of

angles of a triangle is 180 degrees).

° Watch Video Solution

1. Solve the following equations: (a) 10p = 100
p 3p
(b) 10p + 10 = 100 (c) 1= 5 (e) e = 6 (f)

3s= —9 (g) 3s+12=0 (h) 3s=0 (i)


https://dl.doubtnut.com/l/_er2t5oIlvK20
https://dl.doubtnut.com/l/_iiphhXQBcsuV

29=6 () 29—6=0 (K 2g+6=0 ()

2q + 6 = 12

° Watch Video Solution

2. Give first the step you will use to separate

the variable and then solve the equation:

@z—1=0
b)z+1=0
Qz—1=5
(dzx+6=2

y—4= -7


https://dl.doubtnut.com/l/_iiphhXQBcsuV
https://dl.doubtnut.com/l/_b5kP45Ve1pLp

Ny—4=4
(gy+4=4

(hyy+4= —4

o Watch Video Solution

3. Give the steps you will use to separate the

variable and then solve the equation: (a)

20p
3n — 2 =46 (b) 5m—|—7=17(C)T=40
3p z 5
(d) 1—0—6 (e) 8y =36 (f) 31 (g)
7

2 — L (hy20t =10
5 15

o Watch Video Solution



https://dl.doubtnut.com/l/_b5kP45Ve1pLp
https://dl.doubtnut.com/l/_ydvwkxVnKYWY

4. Give first the step you will use to separate
the variable and then solve the equation: (a)

3l:42(b)g :6(c)§ — 4(d) 4z = 25

° Watch Video Solution

Solved Examples

1.Raju’s father’s age is 5 years more than three

times Raju’s age. FindRaju’s age, if his father is


https://dl.doubtnut.com/l/_ydvwkxVnKYWY
https://dl.doubtnut.com/l/_Un4izCKOk2ph
https://dl.doubtnut.com/l/_xv52LVIyVHA0

44 years old.

A. 13 years

B. 11 years

C. 12 years

D. 14 years

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xv52LVIyVHA0

2. Find a number, such that one fourth of the

number is 3 more than 7.

A 7,7

B. 11,10

C.7,40

D.32,10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1oMfMJgVZZ7Y
https://dl.doubtnut.com/l/_A1LhJlbwE06f

3. The sum of three times a number and 11 is

32. Find the number.

A.11

B.7

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A1LhJlbwE06f

4. Consider the following situation:Raju’s
father’s age is 5 years more than three times
Raju’s age. Raju’s father is 44 yearsold. Set up
an equation to find Raju’s age.

A. 13years

B. 12years

C. 11lyears

D. 14years

Answer: A

I ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_DdIOGrm9ORtb
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5. Convert the following equations in
statement form: (i) x — 5 = 9 (ii) 5p = 20 (iii)

n+7=1(v) M5—-2=56

o Watch Video Solution

6. Write the following statements in the form
of equations:(i) The sum of three times x and
11 is 32.(ii) If you subtract 5 from 6 times a

number, you get 7.(iii) One fourth of m is 3


https://dl.doubtnut.com/l/_DdIOGrm9ORtb
https://dl.doubtnut.com/l/_obT0yOMURw2I
https://dl.doubtnut.com/l/_MwNFTqG7g3Tg

more than 7.(iv) One third of a number plus 5

is 8.

° Watch Video Solution

7.5olve (a)4(m + 3) = 18(b) —2(x +3) =5

° Watch Video Solution

8.Solve: 12p — 5 = 25

° Watch Video Solution



https://dl.doubtnut.com/l/_MwNFTqG7g3Tg
https://dl.doubtnut.com/l/_3rxMY84r54q5
https://dl.doubtnut.com/l/_3nUZ42Ro3rce

9.5olve:(@)3n +7=25(b)2p — 1= 23

o Watch Video Solution

10. A shopkeeper sells mangoes in two types of
boxes, one small and one large. A large box
contains as many as 8 small boxes plus 4 loose
mangoes. Set up an equation which gives the
number of mangoes in each small box. The
number of mangoes in a large box is given to

be 100.


https://dl.doubtnut.com/l/_kLgn3rKZrZbD
https://dl.doubtnut.com/l/_ykaZD32v5D6a

A8z +4 =90

B.9z + 8 = 120

C.8¢ +4 = 100

D.92 + 8 = 110
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ykaZD32v5D6a

1. Solve the following equations

A4 =5(p—2) B)10 = 4+ 3(t + 2)

° Watch Video Solution

2. Solve the following equations.
(@)4=5(p—2)(b) —4 =5(p — 2)
(c)—16 = —5(2—p) (d) 10 =4+ 3(t + 2)

(€) 28 = 4+ 3(t + 5) (H 0 = 16 + 4(m — 6)

o Watch Video Solution



https://dl.doubtnut.com/l/_NTEqQjIXEHME
https://dl.doubtnut.com/l/_MOq3JIniKKas
https://dl.doubtnut.com/l/_2Gbf3DkFrwOZ

3. Solve the following  equations.

i)62 + 10 = ( — 2) ii) 5t + 28 = 10

° Watch Video Solution

1. Solve the following:(i) Irfan says that he has

7 marbles more than five times the marbles
Parmit has. Irfan has 37 marbles. How many

marbles does Parmit have?(ii) Laxmi's father is


https://dl.doubtnut.com/l/_2Gbf3DkFrwOZ
https://dl.doubtnut.com/l/_YEyJYZ9XnN4Z

49 years old. He is 4 years older than three

times Laxmi's age. What is Laxmi's age?

O Watch Video Solution

2. Solve the following:(a) The teacher tells the
class that the highest marks obtained by a
student in her class is twice the lowest marks
plus 7. The highest score is 87. What is the
lowest score?(b) In an isosceles triangle, the
base angles are equal. The vertex angle is 40°.

What are the base angles of the triangle?


https://dl.doubtnut.com/l/_YEyJYZ9XnN4Z
https://dl.doubtnut.com/l/_WGFtdZ1Xl0lO

(Remember, the sum of three angles of a

triangle is 180°).

o Watch Video Solution

3. Set up equations and solve them to find the
unknown numbers in the following cases: (a)
Add 4 to eight times a number; you get 60. (b)
One fifth of a number minus 4 gives 3. (c)
When | subtracted 11 from twice a number, the

result was 15. (d) Munna subtracts thrice the


https://dl.doubtnut.com/l/_WGFtdZ1Xl0lO
https://dl.doubtnut.com/l/_icG4YFhYzS0D

number of notebooks he has from 50, he finds

the result to be 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_icG4YFhYzS0D

